Case Number: 2502177/2023

EMPLOYMENT TRIBUNALS

Claimant: Mr G W Peterson

Respondent: S Maris Ltd

JUDGMENT

Employment Tribunals Rules of Procedure 2013 — Rule 21

1. The respondent has failed to pay the claimant’s holiday entitlement and is
ordered to pay the claimant the gross sum of £1,553.75.

a. The sum at 1 above has been calculated as follows: gross weekly
wage of £750 divided by 60 hours per week is £12.50 per hour. 124.3
hours @ £12.50 = £1,553.75.

Employment Judge Loy

21 December 2023



